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11. The integral
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8. The improper integral / — —dx
Jo (2&'.‘ —_ 1)?

(a)=0. (b)=22  (o)=-22  (d)=1-In(5). () =22 (f) diverges.
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8. Evaluate the improper integral [ — .
Jo (z—-1)°

(a)3 (b)Z—e (¢)F (d)ym (e)ln2+31 (f) divergent
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10.  Evaluate the following integral:]
0

a) 12In2-12 b)0 ¢)12(1-In2) d)0 e) 12 f)divergent
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11. Evaluate the integral or show it is divergent:
J'm dx
I xInx

a)0 b))l c)e dye e)ln®@)

f) divergent
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5. Evaluate: f —Inx dx
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6. Evaluate: fwd—l
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J3 1 31
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f) diverges
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ANSWERS:

Spring 2012 # 11: C
SPRING 2011 #8: A
SPRING 2010 #8: A
FALL 2008 # 10: A
FALL 2008 # 11: F
FALL 2007 #5: F

FALL 2007 #6: E




